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HRFT  EAAM Y &2 — [m]%4 - 305[] HERH : 2023.11.20 1/228
1 3 4 6 7 8 9
ZF E ¥ B ¥ E 2F B ZF B ZF [El ZF B
Rk B0 A | BR (|BR| R | BRIE |RR| A% | BRR [BR] 28 | &R B A& | &R [BR] &% | &% &% &%
400] 20 1f 400 7 71 500] 22 2| 400 8 2] 400] 13 2| 400| 16 3] 300 13 1
22 2 8 8 24 11 9 4 14 1 18 10 14 4
24 7 9 18 26 17 10 3 16 8 20 18 16 12
26 7 10 14 28 6 11 10 18 14 22 11 18 15
28 5 11 17 30 8 12 7 20 17 20 14
30 i 12 13 32 6 13 3 22 11 22 17
32 3 13 17 34 4 14 13
34 3 14 26 36 4
36 3 16 7
38 1 18 1
42 2
A 41 &% 128| ##% 58| =% 42| =¥ 53| &% 42| w#K 63
g 14.298|##n 7.082|# 8 23.326|# 2.404 |8 7.704|# 8 6.620|#&m 6.811
R 51.473|#%A 25.495|H%EA 83.974|#HERE 8.654|#H#EA 27.734|H8R 23.832|#%&E"A 24.520
Figm 0.348|F#Hm 0.055|F#Hm 0.402|F#n 0.057|F#m 0.145[F#Hn 0.157|%#n 0.108
cE| BT |cEw BRET |cEw EHEHW |cEm| BEET |Skw| BET |sEm| BEAT |sEw #8ET
w%E (e fE%E #= "% 1w #%E
10 11 12 13 14 15 16
ZF = Z¥ B ¥ E ¥ E Z¥ [} ZF B ZF [ES
Rk |EHR| A | RIR [BR| &3 | Bk || A% | &R |BR| 7% | &8 B8 2% | B |[BR] &% | &R |[B%] &%
300| 24 6| 400 22 1| 400/ 16 3| 400 24 6] 400| 24 1 400| 24 10| 400| 36 1
26 15 24 9 18 12 26 3 26 2 26 9 38 9
28 3 26 14 20 12 28 2 28 1 28 9 40 7
30 7 28 9 22 16 30 2 32 1 30 6 42 3
32 3 30 4 32 2 34 1 32 4 44 2
34 1 32 4 34 2 36 2 34 3 48 1
38 1 34 2 38 1 38 1
RE 36| &% 43| &#K 43| =¥ 18| &% 8| &% 42| F# 23
Mg 8.379|##n 12.874|##ni 6.890|##ni 5.860|#&m 2.992|##ni 13.320|##ni 14.788
MR 30.164|#&R 46.346|#HER 24.804|#8ER 21.096|#&R 10.771#%E |  47.952|HEE 53.237
Fim 0.232|F#m 0.299|F#m 0.160|FHm 0.325|F#n 0.374|F#Hn 0.317| ¥ 0.642
EEd| BT (SR BHEW |cEm| BEHET |4Ewm| BET |SE| BT |£Ek| BET |£E| EES
% &% wE "% &% "% #%=




HERFT - ERAM > % — [E]1%% : 305[q] HExH : 2023.11.20 2/228
17 18 19 20 21 22 23
pES B ¥ B Z2¥  |REM 2F | hEH b E ¥ E AF [E

Rk |BAR| A | Bk (B AR | BB (BB A | B [BR] &K | &R [BR| A% | B B A | 8 8% A%
460 28 1| 400 24 1| 300 22 1| 300 14 4] 365 22| 10| 400 40 1| 365/ 16 7
26 4 24 12 16| 22 24 14 44 1 18] 12
28 7 26| 10 18| 20 26| 11 46 1 20 16

30 3 28 6 20 19 28] 13 50 1

32 6 30 1 22| 18 30 8 54 1

34 12 32 9 58 1

36 3 34 3 60 1

36 1

BN 1| &% 36| &% 30| A% 83| A 69| *#% 7| A% 35
MM 0.361|##n 14.146 |##En 5.931|# & 8.760|##Em 18.882|##&ni 7.212|##Em 4.403
WA 1.300| ¥R 50.926|##ER 21.352|#%&R 31.536|##EA 67.975| %R 25.963|#&E 15.851
T 0.361|%#nm 0.392|%#gn 0.197|%#m 0.105|F#Hm 0.273|F#gn 1.030(®#ni 0.125
s EET |cEw| EEST |sEw EET |(cEw| BAS |cEw| EAT |sEm| EET |sEw| BEES

e e % % e % %

24 25 27 28 29 30 31

¥ B ¥ B R B DAY [EX e B ¥ =1 ZF B
Rl |4k A% | BRI (B8R 2K | &R (2R &% | B 2R &% | &8 [BR| &A% | BR [B%| 2% | E& 2% &%
300 14 1| 365 12 2| 365/ 38 1| 300/ 30 1| 260/ 30 1| 300/ 30 3 400 22 2
16 2 13 5 40 1| € 0270 1) 34 1 32 2 24 3
18 3 14 7 42 1| 400 16 1 36 1 34 2 26 6
20 3 44 2 18 31 (0872 3) 36 1 28 6
24 1 20 2| 280 22 2 38 2 30 6
26 1 22 1 26 2 42 i 32 1
32 1 26 1 28 2 34 6
28 2 40 1 36 2
30 1| € 1538 7) 38 2
( 2264 11) 3000 20 1 40 3
24 1 42 1
(0293 2)

BN 12| &% 14| ##% 5| A% 12| &% 12| ##% 11| &% 38
Mg 1.547 |##&n 0.920|##&nt 3.169|##n 2.534|#Em 2.703| ¥ 3.902|#&m 14,742
HER 5.569|#&EE 3.312|##EE 11.408|#%&"E 9.122| ¥R 9.731|##R 14.047|#%&RE 53.071
Fm 0.128|F#Hm 0.065|F#Hn 0.633|Fm 0.211|F#Hn 0.225|FHm 0.354|¥#Hn 0.387
S| BHES |cEn| BEWT |4mw| EES (L BED |cEw| BEHET O |cEw| EET (S| FRE
EEa e % e % e fi%




HERAT - EAARM Y X — [E%% : 3050 #HHxH : 2023.11.20 3/22H
32 33 34 35 36 37 38
/% E v75 B ZF B P [El ZF E & B ¥ B
Rk B8] A | BB (B A% | B Bk &K | &R 2% &% | &% B8] &% | &% B8] &% | &% [&%] &K
200 18 41 400 16 3| 400 34 1| 400 18 1| 600/ 14 3] 300/ 14 14| 300 22 2
20 5 18 3 36 1 20 1 16 6 16 51 24| 33
22 17 20 7 38 6 22 1 18 5 18 43 26 25
24 14 22 6 40 4 24 6 20 6 20 32 28 27
26 7 24 2 42 1 26 10 22 1 22 36 30 15
28 5 26 2 44 5 28 2 24 2 32 6
30 3 28 1 46 2 30 5 34 3
32 4 30 1 48 1 32 6 36 2
34 1 34 5 38 1
36 1
A 60| &% 25| & 21| &% 38| &#& 21| &% 178 &% 114
MM 7.240|# 8 4,654 |HHEm 14.198|##&m 12.280|# 8 4.435| M 8Em 18.330|# #&ni 25.563
WA 26.064|#&ER 16.754|H#&R 51.113|#&"R 44.208| &R 15.966|##R 65.988| &R 92.027
FEHm 0.120|F#Hni 0.186|F#Hn 0.676|FHm 0.323|F#m 0.211|FHn 0.102|F#Hm 0.224
cEw| JEET |c@t BET (4w BEED |fEk| SR |sEw| BED |(£Ew| BET |cEw EHS
= % % &% % 5% #%
43 45 46 50 51 52 53
P [ ¥ B ZF B Z¥ B zF B ¥ [E} ZF B
Rk |BER| AE | BRI (B AE | &I (BRR] A | BR (BR| A | BR (2R A% | B (B % | BR [BR] =&
6 40| 32 1| 460 36 1| 480| 34 1| 300/ 14 4| 300 14 1| 400| 24 1| 400/ 38 5
40 1 16 6 16 5 26 1 40 5
18 14 18 24 28 4 42 6
20 10 20 27 30 7 44 2
22 16 22| 21 32 12 46 3
24 1 34 7
36 3
I 1| &% AR 1| &# 51| #=# 18| &% 35| A% 21
M 0.697 |##&n 1.332|##Em 0.555|##&Em 5.749|##Em 9.057|##&m 13.984|#8&Em 14.412
L sl 2.509|##ER 4.795|#tER 1.998|##&R" 20.696|##ER 32.605|##&EA 50.342|##ER 51.883
FHnm 0.697|F#Hm 0.666|FHm 0.555|F#m 0.112|F#m 0.116| ¥ 0.399|F#Hm 0.686
S| EHET (4@t BHD |fEm| BEHT ([fE| BRAT |sEn| B ES |(cEw| BEET |£Ew| EHS
&% e &% &% 8% &% &%




HERFT  ERAM Y & — [E]%5 : 305[] #ERH : 2023.11.20 4/228
54 55 56 57 58 59 60
P& [E ZF [ES e B ZF B 2 ¥ B ZF B ZF B
ik Bk 2K | ’RiR |[BR] 7B | Bk [BR| 28 | 5% |B%] 7K | 5k 5% 2K | 5% |BF| 75 | 5% 5% 7%
500 18 10] 300| 24 6| 300/ 14 6| 300| 22 5] 300| 22 1| 300f 22 1| 300 16 2
20 13 26 15 16 28 24 17 24 6 24 12 18 16
22 24 28 8 18 22 26 21 26 8 26 6 20 22
24 2 30 7 20 14 28 23 28 12 28 8 22 20
32 5 22 17 30 17 30 6 30 8
34 4 32 4 32 3 32 5
34 2 34 1
36 3
AREL 49| &% 45| F# 87| #&# 92| &#K 37| &% 40| &% 60
B 10.604|##&n 10.776|#8&m 8.789 |+ #m 21.013|##n 8.515|#H&Em 9.014|##m 7.246
MER 38.174|##&E" 38.794|##EE 31.640|#%&E" 75.647|#%E"R 30.654|##R 32.450|##R 26.086
FHm 0.216|Fm 0.239(FHnd 0.101|Fn 0.228|¥Hn 0.230|F5n 0.225|F4ni 0.120
EE|) EET |cEt) BET |cEw| EES |LEw| S£ET |cEm| BE |cEw| BET |cEw BES
2 % fw% % -3 = %
61 62 63 64 65 66 67
ZF B 2F B ZF B ZF B ZF B ZF [E} ZF [E
Rik |BR] A | B |[BE] FE | BR [BR| 28 | 5% R 7K | 5% |[BR| 2K | 5% 5% 7E | % 155 £X
400/ 38 3| 300| 22 2| 400] 36 11] 400 34 1| 400/ 36 12 400 30 1| 300/ 34 1
40 5 24 14 38 9 36 26 38 5 32 1 36 4
44 1 26 3 38 18 34 8 38 1
48 1 28 4 40 1
30 4
32 5
34 4
36 1
38 1
E 10| &% 38| F# 20| &=# 45| F# 17| &% 10| &% i
HEm 6.630|##&En 9.086 |# & 10.900|# & 24.334 | 9.106|##&m 4.466|H#Em 2.816
MER 23.868|HEA 32.710(|##=" 39.240|#%®R 87.602|##&E"A 32.782|#&"R 16.078|#%&R 10.138
Figm 0.663|Fni 0.239|F#Hn 0.545|F#Hn 0.540(*#Hn 0.535(Fgn 0.446|FHn 0.402
g BEW |sEw| BEAT |[fEw| BET (St BEAT |t LB |cEw| BET |42 £2@E5
&% &% &% g &% "% &%




HERAT  ERARM & — [@% : 305[] F#ARH @ 2023.11.20 5/208
68 69 71 72 73 74 75
RF E 2F B Pl B ¥ E ¥ E zF B ¥ =
Rk || A% | ®RR |BR] A | BR |[B%| 2% | B |[BR] &% | &R [B%| &% | & [BR] &% | £8 |[B%| &%
300 36 1| 300] 16] 14| 400] 32 6] 400 38 3] 400 36 1] 500] 22 1] 300] 24] 15
38 4 18] 30 34 9 40 6 38 4 24 6 26 4
40 i 200 41 42 3 40 1 26] 11 28 2
44 | 22| 22 44 1 42 2 28] 10
46 i 46 4 44 1 30 6
50 1 48 2 48 1 32 2
52 1 34 3
36 1
£ | &% 107| &% 15| ## 20| & 10| &% 40| A 21
8 4.567|#8&m|  12.098|# N 6.618|##&n|  14.776|#Hm 6.578|#Hm|  15.714|#HEn 3.877
HEE|  16.441|#%AE|  43.553|MEE|  23.825|M#E| 53.194|##@E| 23.681|#®E| 56.570|#@E|  13.957
Fni 0.507 | 0.113|®#n 0.441|Fn 0.738|®45ni 0.657|®#nt 0.392|F#ni 0.184
hEth| AT |sEe| BET |fEw BET |fEw| EET |sew| BEET |fEw| BAT |fEw| B@E©
1% % 1 1% % % 1%
76 77 78 79 80 81 82
2F [E} zF B ZF B z¥ B ¥ [E & [E} P B
BB |BHR| A | BRI [BE| A3 | BR |B%| A% | B (2R A% | &R [BR] &K | &R [BR] &% | BER [B%] A%
300/ 18 3| 500 24] 10| 365] 22 3] 400] 32 1] 300/ 18 3] 400] 26 4] 300] 24] 17
200 12 26| 13 24 1 34 2 20 4 28 3 26 7
220 21 28 5 26 4 22 7 30 4 28 2
30 6 28 5 24 7 32 2 30 1
32 4 30 4 26 3 34 4 32 1
34 2 32 1 28 1 36 12
36 1 30 1
% 36| &% 40| &% 19| &% 3| &% 26| % 29| &% 28
HEm 4.776|#8m|  15.138|#En 5.322|##&n 1.334|# 8 4.111|#8Em|  12.346|4# 5.409
HEE|  17.194|#%®E| 54.497|H#EE|  19.159|#ERE 4.802|##E|  14.800|m#&E|  44.446|#EE|  19.472
T 0.132|F#ni 0.378|F5m 0.280|F#ni 0.444|Fm 0.158|F 0.425|®#n 0.193
S| BES |dEw| EAT |fEw| BET |fEw BEAT |(Law| BEAT |sEw| EET |fEe| EES
% % 5 fz % 5% %




HERFT  EAART Y & — [@%% : 305[] HHxH : 2023.11.20 6/228
83 84 85 86 87 88 89
P& [ ZF B ZF B ZF B ZF B Z¥ [E] AF B
Rk B A | B [BR] AR | BRRER] FE | B [BR| 2K | 5% 5K A% | &R 2% AE | &8 |B%| A%
300 14 3 4000 7 9] 400/ 22 1] 300/ 24 8| 400/ 22 3| .400] 14 2| 300/ 20 2
16| 23 8 14 24 5 26 7 24| 25 16| 18 22 2
18] 28 9] 19 26 2 28 5 26 11 18] 24
200 20 100 22 28 1 30 5 28| 14 20 23
| 22| 16 11] 14 30 2 32 2 30 9 22| 23
12| 28 36 2 32 b
13] 25 38 1 34 2
14 44 40 1 36 1
16 2
ES 90| &% 177| ##% 11| #=% 31| &% 70| ##% 90| =% 4
M 9.384 |##m 9.664 |##n 2.918|##n 7.635|#HEm 20.430|# #n 13.254 |# 8 0.530
HHEE 33.782| &R 34.790|##ER 10.505(##5E 27.486|#HEE 73.548|#EA 47714\ HEERE 1.908
Fign 0.104|Fn 0.054(F i 0.265(Fn 0.246|%gn 0.291|F#m 0.147|F#gn 0.132
sEw) BHET (LEw|) BREAT |cEe) BREW |cEw BET |cEw| EET (s BEEW |sEw| EES
fB% = ) ) % w5 &%
90 91 92 130 131 132 158
2F E ZF E 2FE E zF E zF B R FE [El ¥ B
iR &R AE | B [BR] FE | BR [BR] A | BR [BR] A4 | £ [BR| 7K | 2% |B%| 2K | 5% |B%| 2K
400] 20 3| 300/ 13 1| 300/ 42 1| 5400 40 1| 540/ 38 1| 500 34 1| 700 16 1
22 3 14 7 44 2
16 7 50 2
18 11 52 2
20 7
22| 12
24 3
K 6| &% 48| &% 7| =% 1| &% 1| &% 1| &% 1
M 1.062|##nd 5.169|##&m 4.813|# 0.864 |##nt 0.780(# & 0.578|# & 0.214
MR 3.823|#H&"R 18.608(##5E 17.327|##5A 3.110|#&"E 2.808|#tEHE 2.081|#E5E 0.770
Figni 0.177(F#n 0.107 |Fgnt 0.687|Fgn 0.864|Fgm 0.780|F#nt 0.578| % 0.214
sE| BE™ |2Et) BEW (st BREW (& FENE sk FERR |sEm| BET (4| BEES
% % wE wE wE wE (e




HERAT : ERAM > % —

[E]%4 : 305[] HERH : 2023.11.20 7/228
161 200 201 202 203 204 205
2E E ZF E Z¥ E ZF B ¥ B ZF B RE [E
ik [k &8 | Rk |B%| AR | B 8% 28 | &R |28 28 | &R |[B%| &K% | &% 2% & | =% [B%| &%
600 22 1| 500 38 1f 500] 38 1| 500f 38 1| 500] 38 1| 5000 38 1] 500| 44 1
A 1| =% 1| &% 1| &% 1| &% 1| *% 1| &% 1
i 0.317|###m 0.722|## % 0.722|#8m 0.722|##m 0.722(# 8 0.722|##m 0.968
HER 1.141|#%&R 2.599|mHEE 2.599|#HER 2.599|#&ER 2.599|#®ER 2.599|#®E 3.485
Fign 0.317|¥ani 0.722|F#m 0.722|F#Hm 0.722|FHn 0.722|F#Hn 0.722|F#m 0.968
) BHET |(£@t| EHET |cEt|) BEHT |(fEw| EET |£Ew| EES |4Ew| EET |4Ew EHS
#% e e #= fB% &% #=
206 207 208 209 210 211 212
ZF B Z¥ [ ¥ B ¥ £ ZF B ZF B zF [E
Rk |ER| | BR |8 A | BR |B%) 2 | &% B8] &% | B8 |[2%] &% | B& &R &% | &R [BR] &%
500] 38 1| 500| 36 1| 500| 36 1| 500[ 40 1| 500 42 1| 400] 54 1| 400] 50 1
A 1| &% 1] =% 1| &% 1| &% 1| &% 1| &% 1
M 0.722|##&m 0.648|##n 0.648|#HEn 0.800(#&m 0.882|##m 1.166|#&ni 1.000
A 2.599|#ER 2.333|#HEAR 2.333|#®ER 2.880|#H&ER 3.175|#&ER 4.198| 7R 3.600
i 0.722|%n 0.648|Fign 0.648|FHn 0.800|F#Hn 0.882|F#Hm 1.166|FHm 1.000
SEw| BHEM (@t EET |4Ew| BHT |4kt BET |(£Em| EET |cEw| BRET |eEw| BEASH
&% &% % &% 5% % "%




HIRFr  ERAAM 2 &2 —

[E]% : 305[2] FARH : 2023.11.20 8/228E
213 214 215 216 217 218 219
ZF £ & B P B Z ¥ B ZF B ZF B ZF B
RiR B A | BR |BR] A8 | B [BR] A& | B |[BR| 3K | 5k 2% A% | &% |50 7K | =0 50| A%
400/ 62 1| 400 54 1| 400| 54 1 400] 56 1| 400| 58 1| 400| 52 1f 400 50 1
AREL 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
M 1.538|# 1.166|#8&m 1.166|##m 1.254|##&m 1.346|##m 1.082|##&m 1.000
A b.h37|HHER 4.198|#ERE 4.198|#EER 4514\ %%ER 4 846 |#HER 3.895|#H#EA 3.600
FHm 1.538|F#Hn 1.166|F#Hm 1.166|FHnm 1.254(F#Hm 1.346|F#m 1.082|Fm 1.000
S| BRETH |CEt| BET |sEw| SEAT (L] BRET |cEm| BET |cEw| BET |4Ewm| 2@
= &% 5% 5% =2 5% =3
220 221 222 223 224 225 226
2F E 2 F B ZF B Z¥ E ZF E ZF E ZF B
R (|BR| A% | &R (BB 28 | &R [BR] 2% | B |[BR] 2% | £ 2% A% | £% |5k 7K | 50 |2k A%
4001 52 1| 400 50 1| 400] 50 1| 400f 50 1| 400[ 52 1| 400{ 50 1| 400| 46 1
K 1] &% 1| &% 1| &% 1| A% 1| &% 1| &% 1
&M 1.082|##&m 1.000|# & 1.000|##&m 1.000(##&nt 1.082|##&m 1.000(##&nt 0.846
HWER 3.895|# &R 3.600|##E" 3.600|#&ER 3.600|##&ER 3.895|HER 3.600|##&E" 3.046
Fim 1.082|F#Hm 1.000|F#nm 1.000(|F#Hm 1.000| g 1.082|F#Hm 1.000|F5m 0.846
GEi| AT |dEm| BREAT |cEw| BEAT |cEw| BEH sk BET (42w BET |sEwm| B2ES
&% & fw% % fB% % w5




HIRAT C ERAME Y & —

[]#% : 305ME] 87 H : 2023.11.20 9/228
227 228 229 230 231 232 233
b E ZF B ZF [ 2 ¥ B Z¥ B ZF [E} ¥ B
=ik Bk AE | Bk |[BR| A | B |BR] A | &R (BB A3 | ®BR (B &K | £BR [B&%R] &K | BR [BR] &%
400[ 52 1| 400| 62 1| 400| 66 1| 400| 56 1| 400] 60 1| 400| 62 1| 400| 44 1
AEL 1| &% 1| A# 1| &% 1| &% 1| &#% 1| &% 1
R 1.082|##&n 1.538|##&m 1.742|##&m 1.254 |#t%&m 1.440 |#%&nm 1.538|#H&m 0.774
WER 3.895| &R 5.537|#&ER 6.271|H&ER 4514|#8ER 5.184|#&ER 5.537|#®E®E 2.786
FHn 1.082|%ni 1.538|F5m 1.742|Fign 1.254|F#nt 1.440|F#nd 1.538|F#Hnm 0.774
| BT |LEt| EET |£Em| BET |(fEu| BETH (£ BET |(cEm BET |sEw| BES
% % B &% fw% =2 w%
234 235 236 237 238 239 240
pES B ¥ [E RF E R E ¥ = e E ZF B
Rk |[BAR| A | BRI (BB A | BR |[BR| A& | &R (B &K | &R (BB A% | B (BR] A% | BR [B%] &K
4 00| 42 1| 400| 42 1] 400| 40 1| 400 44 1| 400f 40 1| 400| 60 1] 400 52 1
A 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
HEm 0.706|#&m 0.706|# &&n 0.640|# & 0.774|#%m 0.640|# &n 1.440 |#%&m 1.082
MR 2.542|#ER 2.542| %8R 2.304|#8E"R 2.786|HER 2.304| &R 5.184|#®E"E 3.895
T 0.706|FHn 0.706|FHn 0.640|F#Hn 0.774| %5 0.640|F#Hm 1.440|FHm 1.082
| BT (cEt| BET |(fEm| BET (4| BET |4Ew| BET (fEw| BRET |LEw BED
&% 5% % 5% &% 5% 5%




HRAT - EAKRM LY & —

[B]%4 : 305[q] HERH : 2023.11.20 10/228
241 242 243 244 245 246 247
AF = 2F B ZF B Z¥ B ZF [E e B 2 B
Rk Bk A8 | Bk |B%| A | BE (BR] A | BR8] A% | &R [BR] £EK | BR [BR| £& | BR [B%| &%
400 48 1{ 400| 50 1| 400] 48 1| 400] 46 1| 400| 46 1| 4000 38 1 400] 44 1
R 1| &% 1| &% 1] =% 1| A% 1| &% 1| &% 1
i 0.922|##m 1.000|##&ni 0.922|##n 0.846|# 8 0.846|#Hn 0.578|#Hm 0.774
HHER 3.319|#HER 3.600|#®&"A 3.319| 7" 3.046|#H#E 3.046|#&A 2.081|#&ER 2.786
Figni 0.922|F#n 1.000|®#Hm 0.922|F#ni 0.846| ¥ 0.846|%#Hni 0.578|F#m 0.774
EE) BT (4@t BET (k| BRSO |cEt| BET |4t BETD (45w BET |cEw| B@T
#= e &% =t e % %%
248 249 250 251 252 253 254
R F [El ¥ B Z¥ B ZF B ¥ [El Z ¥ [E] ZF [E}
Rk |85 A8 | ik B A | BRIk |[BR| 7| BR [BR K | &R (B8R A% | BR |2 A% | BR [BF] &%
4 00| 40 1| 400| 42 1| 400| 44 1 400| 38 1| 400| 42 1| 400 56 1| 400] 52 1
AE 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
T 0.640|#&&n 0.706|# 8 0.774|##&ni 0.578|##&m 0.706|#&n 1.254|##&n 1.082
HHEE 2.304|##R 2.542| &R 2.786| &R 2.081|#E&E 2.542|H&A A514|#HER 3.895
Fiym 0.640|F5ni 0.706|¥n 0.774|¥#ni 0.578|F#m 0.706|F#Hn 1.254|FHn 1.082
sEit| R |cEw BRET sk BREAT |fEm) BRET |Em| BET |sEk BET |cEp BET
&% fwE #= w%E &% #%E #=




HIRAT : ERARM Y & —

[B]%4 : 305[H] HEYH : 2023.11.20 11/228
255 256 257 258 259 260 261
rEd E 2F B ZF [E] 2F B ZF B ZF B ZF B
Rk | B A | KR (B 28 | BR BB 28 | BR [BR] 25 | 5K |88 5% | &% 2% A% | 5% Bk A%
400/ 56 1| 400 52 1| 400| 52 1| 400| 54 1| 400| 46 1| 400 50 1| 400 44 1
RE 1| &% 1| &% 1| &% 1] &% 1| &% 1] &% 1
g 1.254|##&m 1.082|##m 1.082|##m 1.166|##En 0.846|##&Em 1.000|##&n 0.774
&R 4514 |mER 3.895|##ER 3.895|##ER 4.198|# %R 3.046| ¥R 3.600|##&ER 2.7186
Fim 1.254|F5m 1.082|F#Hm 1.082|F#Hm 1.166|FHm 0.846|F#Hm 1.000|F#n 0.774
S| BRET |(Ew| BREAT |cEw BET |cEw| BEAT |cEw| BEH |fEw BB |sEw| BET
5% &% 5% % &% EE %
262 263 264 265 266 267 268
zFE B 2F B ZF B 2 B ZF B pES [El zE [E]
Bl B A | B (BB AR | BR (BR] A | KR [BR| AR | BR |[B% AK | 5% 5% 2K | 5k BR| A%
400 44 1| 300 42 2| 400 36 1| 400| 48 1| 400 46 1| 400/ 50 1| 400 46 1
44 2 38 3
46 1 40 4
42 3
46 1
REL 1| &% 5| &% 12| ## 1| &% 1| ## 1| &% 1
MM 0.774|#%m 2.855 | ##Em 1.776|#%&En 0.922|##&m 0.846|##Em 1.000|#%&m 0.846
wWER 2.186| 7R 10.278|#%&R 27.994|##ER 3.319|# &R 3.046|#ER 3.600|#&E=E 3.046
Figm 0.774|F#Hm 0.571|F#Hm 0.648|FHn 0.922|F#m 0.846|F#Hn 1.000|Fgm 0.846
g BET |LEw| BET |(fEt] BEAT |cEw| BET |wEw| BET |sEw| EET |sEw| 285
1w % fw% e #= &% &%




HERAT  ERARME Y & —

[E%% : 305[] HIRAH :2023.11.20 12/228
269 270 271 272 273 274 275
2F B ¥ E ¥ [E RF B RF B RF E ZF E
Rk |EBR| NE | R (BRI A | BR (BR| A | ®RR (|RR| A2 | BE (2R 7K | =R (BR] & | 2R |28 &%
400 46 1| 400 46 1| 400] 46 1| 400] 46 1| 400 50 1| 400 48 1| 400 46 1
AEL 1| &% 1| =% 1| &% 1| &% 1] &% 1| &% 1
E- ) 0.846 |##n 0.846 |8 0.846|##&m 0.846|##En 1.000|##&n 0.922|##m 0.846
R 3.046|#H5A 3.046|#ER 3.046|#EA 3.046|##EA 3.600|#%&R 3.319|#&ER 3.046
Figm 0.846|F#Hm 0.846|FHm 0.846|Fn 0.846|F#Hm 1.000|F#Hm 0.922|FHn 0.846
cEw) BT (cEw| BRET |4Eu| BET |SEw| BET |SEw| BRET |(£Ew| BRET |(£Ex| B8R
e % 5 o 1% % o
276 277 278 279 280 281 282
ZF B ZF B zF B ZF E ZF B ZF B AF B
R BB A8 | R [ER| AL | =B B8R A8 | R BB AR | 5B [BR| A8 | B8 [ER] 2K | 5% BB 7K
400/ 46 1| 400] 46 1| 400 44 1] 400 50 1| 400] 48 1] 400 48 1] 400] 46 1
RE 1| &% 1| &% 1| &% 1| &% 1| ##% 1| &% 1
M 0.846|#&En 0.846 |##n 0.774|# % 1.000|# & 0.922 |7 & 0.922|# #nt 0.846
MR 3.046|#&ER 3.046|H&ER 2.786|H#EHR 3.600|##&ER 3.319|##®ER 3.319|##ERE 3.046
Figm 0.846|FHm 0.846(FHn 0.774|Fn 1.000|F=#Hnm 0.922|Fn 0.922|F#m 0.846
| BT |4Em| BET |cEtk| BREAT (ckw| BRAT [kt BRET |cEm| BET |(£Ek] BEAD
&% &% = &= 5% &% &%




HIRAT C ERAM Y 2 —

1% : 3050 #ERA : 2023.11.20 13/228
283 284 285 286 287 288 289
¥ [E ZF B ZF B ZF [E ZF B ¥ B ZF E
=ik &R A3 | ®RR |[BR] A5 | &R B 7 | B [BR] 7% | BR [B%| 2% | &% |BR] A% | 5% |2k 2K
400 48 1| 400| 44 1| 400| 44 1| 400 48 1{ 400 50 1f 400/ 50 1| 400 48 1
I 1| &% 1| &% 1| &% 1| &% 1| =% 1| &% 1
i 0.922|##m 0.774|#8m 0.774|#8Em 0.922|##&ni 1.000|##&ni 1.000|# & 0.922
HHEE - 3.319|#%&R 2.786|#&ER 2.786|#&ER 3.319|#&ER 3.600|#&R 3.600|#8&ER 3.319
Fign 0.922|F#Hm 0.774|Fn 0.774|F#n 0.922|%ni 1.000|F#m 1.000|F#Hni 0.922
£E| BETH |cEw| BETH |sEw| BREAT |ckn| BET |(fEm| BET |(sEw| BETH |sEw £@T
5% == =3 &% % &% %
290 291 292 293 294 295 296
ZF [El ZF B ¥ B Z¥ [E ZF [E} ZF B ZF B
BRIk |[ER| &% | RIE [BR| A8 | B |BR| 2% | BE |[BR| % | &% [®R] 2% | Bk [B%| 2% | £& &% 7%
400] 44 1| 400| 44 1| 400| 44 1| 400 44 1| 400 44 1| 400 44 1| 400 42 1
E 1| &% 1| &% 1| A% 1| &% 1| &# 1| &% 1
wEnd 0.774|#%&m 0.774|#%n 0.774|#%n 0.774|#%Em 0.774|#8m 0.774|#%m 0.706
&R 2.786| &R 2.786| MR 2.786| &R 2.786| &R 2.786|HH#ERE 2.786|HH&ERE 2.542
Fign 0.774|F#n 0.774|FHm 0.774|F#Hm 0.774|FHm 0.774|FHm 0.774|F#n 0.706
EEM| BT |cEw BRET |cEm BET |cEw BET |cEw| BET |sEw| BET |cEw B@ES
% - &% e %= % &%




HIRFT - ERAM LY & — 1% : 3050 #BR B : 2023.11.20 14/208
297 298 299 300 301 302 303
e [E ZF B RF B ZF [E ZF B ZF [El RF E
Rk Bk A | RIR [BR| A | &R |B%] 28 | &R |&%| 7 | B8R |B%] &% | &R |2 &% | BR [BR] 5%
400 40 1| 400| 40 1| 400 40 1| 400| 44 1| 400| 44 1{ 400| 44 1| 400, 42 1
E 1| A% 1| #*# 1| &% 1| &% 1| &% 1| &% 1
i 0.640(# #ri 0.640|##&n 0.640|##&m 0.774|H8Em 0.774|#%&m 0.774|# Hn 0.706
WHERE 2.304|#ER 2.304|#ER 2.304|#HER 2.786|#ER 2.786| %R 2.786|#H#ER 2.542
FHm 0.640|FHn 0.640|FHm 0.640|F#Hn 0.774|Fn 0.774|F#Hni 0.774|FHm 0.706
S| BRET O |4cmt| BET |cEt| BSET |cEt BET |cEt| BET |4Em| BFET |sEw| £@A®
&% w%E "E % BE e &%
304 305 306 307 308 309 310
pE B P B ¥ B ZF B Z¥ [E ¥ B AF E
R BER| AK | B |[BR| MK | 5% |BR| A | £% B 2K | BR |BR| AR | 50 |BR| 7K | 5% [ER| AR
400 40 1| 400 42 1| 400 42 1| 400| 40 1| 400/ 40 1| 400| 40 1| 400 42 1
A 1| &% 1| #% 1| #=#% 1| &% 1| &% 1| =% 1
MR 0.640|##&m 0.706|##n 0.706|#&n 0.640|##&m 0.640|#&m 0.640|#8m 0.706
Cai-os) 2.304|#%E5A 2.542| 7R 2.542|#H#EAE 2.304|#%EA 2.304|HER 2.304|#ER 2.542
FHm 0.640|F#n 0.706|F#n 0.706|FHm 0.640|F#m 0.640|Fn 0.640|FHn 0.706
| BRI |(fcEt| BRT |4sEm| BET |sEwm| BET (s BRET |(fEw| BET x| BES
%% &% &% &% &% &% &%




HERFT  ERAM Y X —

[E1%5 : 305[2] F#ARH : 2023.11.20 15/228
311 312 313 314 315 316 317
ZF B ZF B 2F B ZF B Z¥ B ZF B ZF B
ik Bk A | BR[| A | B (B 28| BR |[BR|) A% | BR [BR| £K | =R (B & | =% [B%| & &
400| 40 1 400] 40 1| 400] 40 1| 400 42 1| 400 42 1| 400| 40 1[ 400| 42 1
E 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
MR 0.640|##ni 0.640|# 8 0.640|##&n 0.706|##m 0.706 |##n 0.640|# & m 0.706
HER 2.304| 7R 2.304| MR 2.304|#8ER 2.542|HER 2.542 | MR 2.304|#8H"E 2.542
FHm 0.640|FHni 0.640|F#Hn 0.640(F#Hm 0.706|FHn 0.706|F#Hm 0.640(F#Hmn 0.706
| BET O |cEt| BET |fEt| BET |cEm| BET |sEk| BET |sEw| BET |tEw| BES
&% &% &% & E= e =
318 319 320 321 322 323 324
¥ [E ZF B pE B AF B e E 2 F B 2F B
Rk |BR| A8 | BRIk |BR| &8 | &Rk |BR] 2 | B |B%| &% | BR |82%| &% | B |28 &% | BR [BR] &%
400 42 1| 400 40 1| 400| 42 1| 400 42 1| 400| 42 1| 400, 40 1| 400| 40 1
A 1| A% 1| &% 1| &# 1| =% 1| &% 1| &% i
MHEm 0.706|##m 0.640|##&n 0.706|##&m 0.706|#&En 0.706|##ni 0.640(##&n 0.640
MER 2.542 |7 ER 2.304|HHER 2.542|mER 2.542|HER 2.542| ¥R 2.304|#ER 2.304
Figni 0.706|F4ni 0.640(F#n 0.706|Fgm 0.706|F#m 0.706|F5m 0.640|F5m 0.640
S| BT |4t BRET |4cEt| BEH |sEw| BET |cE| BET |cEw| BEAT |sEw| BESG
&% &%E e &% &% w% &%




HRAT : ERARM Y 2 —

[1%4 : 305[q]

FHErH : 2023.11.20 16/228
325 326 327 328 329 330 331
¥ E ¥ E 2F E Z ¥ E ZF E zF E ¥ E
&R B A8 | B [BR] &R | B [BR] 7% | &% [BR| 5K | 50 5% A% | 5k |BR A% | 5% |2%| A%
400 40 1| 400| 58 1| 400| 48 1| 400| 46 1| 400 48 1| 400 46 1| 400 46 1
I 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
MM 0.640|##n 1.346 (##m 0.922|##n 0.846|##m 0.922|##n 0.846|##ni 0.846
HER 2.304|#&ER 4.846|HER 3.319|##&E" 3.046|#HER 3.319|##%R 3.046| %R 3.046
FHm 0.640|F#n 1.346|FHn 0.922|F#Hm 0.846|F#Hnm 0.922|FHm 0.846|F#Hn 0.846
| BRET O |sEt| BET |(fEt] BET |cEm| BET |(sEm| BRET |cEw| BET |(cEm BEH
#%E &= &% &% % &= e
332 333 334 335 336 337 338
2F B 2F B Z¥ B AF B ZF B 2 F [E} 2F E
ik B0 28| KR BB 7% | B [BR] A% | &R BB 7% | &8 [BR] &% | &% |B% A% | B |5%| 55K
400 54 1| 400| 52 1| 400| 58 1| 400| 52 1| 400f 58 1| 400 54 1| 400| 66 1
RE 1| &% 1| =% 1| &% 1| &% 1| &% 1| &% 1
HHEm 1.166|#H#&n 1.082|##&nt 1.346|##&m 1.082|##&n 1.346|##n 1.166|##Em 1.742
wWER 4.198|#%ER 3.895|##ER 4.846|#ER 3.895|##EA 4.846| MR 4.198|##ERE 6.271
Figm 1.166|F#Hm 1.082|Fgn 1.346|Fgm 1.082|Fm 1.346|Fign 1.166|F#Hm 1.742
g BET |sEw| BEAW |fkw| BEAT |sE| BET |cEw| BERT |cEm| BET |sEw 285
&% (s &= "% w% 7% &%




HERFT : ERAM > & —

1% : 305] #*ERA : 2023.11.20 17/22H
339 340 341 342 343 344 345
Z¥ B 2 B ZF B ZF B ¥ B AF B P e B
Rk | B0 | A8 | BR8] A8 | &Ik |B%| 2K | B8R |28 &~ | BR [&%] &% | BR[| 2% | &% [&%| &%
400| 60 1| 400| 52 1 400] 50 1| 400 42 1| 400 40 1{ 400| 40 1| 400 42 1
AE 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
HEn 1.440|#8m 1.082|##&Em 1.000|##&m 0.706|# &n 0.640|#&m 0.640|# 8 0.706
MHEE 5.184|#%"E 3.895|#HER 3.600|#®ERE 2.542|#&ER 2.304 | HER 2.304|##ERE 2.542
FHm 1.440(F5m 1.082|F#Hn 1.000|F#n 0.706|F#Hn 0.640|F#Hm 0.640|F#nt 0.706
| BT |4Et| BET O |cEm| BET |(fiw BEETD |tEw| BET |fEm| BET |cEw| BEES
&% =2 = 5% == 5% %
346 347 348 349 350 351 352
ZF B ZF B ZF B Z ¥ [El s [E} 2F B zF B
Rk | B AE | BRIk (BR| A& | &% B8 &% | B |B%| A% | &R |BR| a% | &% B8] &% | &% [BR] =&
400 40 1| 400| 42 1| 400| 36 1| 400 42 1| 400[ 36 1| 400| 38 1| 400 40 1
RE 1| =% 1| &% 1] &% 1| &% 1| &% 1| &% 1
MR 0.640|# % 0.706|# & 0.518|##&m 0.706|#®&m 0.518|#&m 0.578|##&n 0.640
WA 2.304|H&ER 2.542| &R 1.865|#&ER 2.542|HEE 1.865|#&EE 2.081|##EE 2.304
Fin 0.640|F#n 0.706|F#n 0.518|F#4m 0.706|F4m 0.518|F#Hn 0.578|F#m 0.640
| BET O |4Et| BET (L BET |(fE| BT |fEw| BET |cEn| BEAT |sEw| BES
w% &% w% &= 25 &% &%




HERFT © ERAM L 2 —

=% : 305[q] HAERH : 2023.11.20 18/228
353 354 355 356 357 358 359

2 [ =¥ B z% B 2 B =¥ B 2 B 2 B
Rk [BR| AE | 5% |[ER| 28 | =% [ER] AR | =6 |BR| 7% | 5k |[BR| A% | 5% 5% 7K | 5% [EF| A&
400 40] 1] 400] 40 1| 400[ 54 1| 400] 6] 1] 400 48] 1| 400 56| 1| 400 24| 1
£ 1| &% 1| &% 1| =% 1| &% 1| &% 1| A 1
Him 0.640|# 8 0.640 ¥ 8 1.166|# 8 1.742|# 8 0.922|#8m 1.254 |48 0.774
MR 2.304|#@E 2.304|HE 4.198|##E 6.271|#&A 3.319|#HA 4514|HEE 2.786
Fogni 0.640|F#m 0.640|F 1.166|% 1.742| % 0.922|49m 1.254|F#m 0.774

EH|) BRET |sEt| BET |[fEw| BET |fEw| BRAT |cEw| EET |(£Em| EBET |zEw| EHES

wE 5% % o = oz oz
360 361 362 363 364 365 366

2 B z% [ z% B 2z B =¥ =] ¥ B P B
R [BR| 2K | BR [ER| AR | 5k [BR| AK | ok |6 7K | R |[2R| 7E | 2% 2R A% | 5% |[E%| AR
400 46 1] 400] 46] 1| 400[ 44 1] 400[ 46] 1| 400 58] 1| 400] 54] 1] 400 48 1
= 1| &% 1| #=% 1| &% 1| &% 1| &% 1| %% 1
Him 0.846|# 0.846 |8 0.774|#8m 0.846/#8&n 1.346|#HEm 1.166|#8Em 0.922
HEE 3.046|#%E 3.046|HEE 2.786|#HER 3.046|#HE 4.846|HEE 4.198|#ER 3.319
it 0.846| T 0.846|F 1 0.774|%#n 0.846 % 1.346| T 1.166 |44 0.922

k| BE™ |£Ew| BHT |4Et| BHEHD |cEt| EET |sEw| BET |cEw EHT |cEw| EHES

fa% % % o o % o




HIRAT : EARAM Y & —

[B]% : 305[] HERH :2023.11.20 19/228
367 368 369 370 371 372 373
pES B ZF B 2 B ZF B ZF [E ZF B AF B
Rk B &8 | B |B%] A | BR |[B%] &% | &R [ &% | &R [BR] &% | &% [BR] &% | &8 &% A%
400| 52 1| 400] 52 1 400| 44 1| 400| 44 1| 400| 44 1| 400| 42 1| 4000 38 1
AREL 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
i 1.082|##m 1.082|##Em 0.774|#8Em 0.774|# 8 0.774|#%n 0.706|##&m 0.5678
MR 3.895|##ER 3.895|HHER 2.7186|HH%EA 2.786| MR 2.786|#&ER 2.542 | R 2.081
Fim 1.082|F#Hnm 1.082|F#ni 0.774|FHn 0.774|F5nt 0.774|F5n 0.706|FHn 0.578
g BHET (et BEHT |sEt| BEET (4@t BEET |fEt| BEHET |cEw| ERT |(sExw| EET
e &% &% =2 &= &% e
374 375 376 377 378 379 380
2 B A E & B A B 2% B ¥ B 2% =
BB |ER| A | BRIE B8R A | BR |[BR] £ | B B &% | BE [B%] 2% | &R |[B%| &K | &R [BR| &%
400] 40 1| 400| 38 1| 400| 42 1| 400| 38 1| 400| 40 1| 400| 40 1| 400/ 38 1
ARE 1| &% 1| &% 1| A% 1] &#% 1| =% 1| &% 1
HEM 0.640|##&n 0.578|mEm 0.706|#&n 0.578|##&nm 0.640 |##&n 0.640(# 8 0.578
R 2.304|#%&ER 2.081|#HER 2.542|H8ER 2.081|#&R 2.304|#ER 2.304|#8ER 2.081
FHm 0.640|Fign 0.578|FHn 0.706|F#Hm 0.578|FHn 0.640|Fgn 0.640|FHn 0.578
EEt| EHET (4w BEHEHT |sEw| BEET |s@Ew| BET (4@ BEHET |4Ew| EET |t EHS
#*E "% = 5% e - 5%




HERFT - ERAM Y & —

[E% : 305[] #Ax B : 2023.11.20 20/228E
381 382 383 384 385 386 387
pE B b B P& [E ¥ E 2F [E 2F [E} e B
Rk |BHR| A8 | Rk B 2K | &R [BR] £K | &R [BR| 28 | &R [BR| 2K | 5% |B%| 2K | 5% 2% &K
400 42 1| 400| 40 1| 400| 40 1| 400| 42 1| 400 42 1| 400 42 1{ 400| 42 1
ANEL 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
HiEm 0.706|# & 0.640|#&m 0.640|##inm 0.706|##&m 0.706 |#&m 0.706|##&m 0.706
WHER 2.542 | HHER 2.304 |#HER 2.304|#®ER 2.542|#%&ER 2.542 | #HER 2.542|%%ER 2.542
EHnm 0.706|FHm 0.640(¥#Hn 0.640|FHm 0.706|F#m 0.706|¥#Hm 0.706|F#m 0.706
) BH™ || EHEHT |4kt BHET |fEw BEEAT |cEw| EEHT |4m=w| EEHT |4Em| EEHT
w= % 8% 5% 5 5% %
388 389 390 391 392 393 394
P B Z2F B ZF B ZF [E AF [E} 2F [El ZF B
Rk B A | KR |BE| A | BR BB 2% | BR |BR] A% | 2R [BR] &% | BR B8] &% | £8& |&%] &%
400| 38 1| 400| 42 1| 400] 40 1| 400| 42 1| 400 40 1| 400| 40 1| 400| 40 1
RE 1| &% 1| &% 1| &% 1| &% 1| =% 1| &% 1
M 0.578|##Em 0.706|##&Em 0.640|##&m 0.706|##n 0.640|#&Em 0.640|##Em 0.640
WER 2.081|#%&=" 2.542|#ER 2.304|#ER 2.542|H#ER 2.304|HER 2.304|#%RA 2.304
FHn 0.578|F#m 0.706(FHm 0.640|F#Hm 0.706|F#Hm 0.640|FHm 0.640(F#5m 0.640
S| BHET |4Em| BEET |4kt BEAT |cEw| BEET (e EET |4mw| EET |4Em| EHE bil
&= &% == i 5% e &%




HARFT : ERAM 2> & —

[@]%x : 305[g] HERH :2023.11.20 21/228
395 396 397 398 399 400 401
e B ZF B zF B ZF E ZF E ZF B AF B
Rk B A | BIR (BR| A | BB BR AR | BR B &% | KR [BR] 7K | BR [BR] &% | Bk [BR] &%
400 38 1| 400| 36 1| 400| 34 1 400[ 38 1| 400| 40 1| 400 40 1| 4004 38 1
E 1| &% 1| &% 1| A% 1| A% 1| &% 1| &% 1
HHEm 0.578|HHEn 0.518|# & 0.462|##En 0.578|##n 0.640|##ni 0.640(##m 0.578
wER 2.081|##®" 1.865|#&®R 1.663|##ER 2.081|#%E"R 2.304|##ER 2.304|H#ER 2.081
T 0.578|F#Hn 0.518|F#Hn 0.462|F#Hn 0.578|FHm 0.640|FHm 0.640|F5n 0.578
cE| BHT || BHT |t BHT (4| EEHT (2@t EEHT |£2w BEET (€2 BHT
e e =2 E= =2 & &%
402 403 404 405 406 407 408
P B pE B ZF B ZF B ZF E ZF [E ZF B
=k Bk A | Bk (BR|) AR | B [ A | B (BB A& | &R (2R &% | BR [BR] A% | 2R [BR| &%
400| 42 1| 400 40 1| 400| 40 1| 400f 38 1| 400| 40 1| 400 38 1| 400| 38 1
R 1| &% 1| &% 1| &% 1| &% 1| A% 1] &% 1
HEm 0.706|##&m 0.640|# & 0.640|(# & 0.578|#&Em 0.640|##&m 0.578|##&Em 0.578
MR 2.542|#%ER 2.304|HHER 2.304|H&ER 2.081|##EA 2.304|# &R 2.081|#%&ER 2.081
Fim 0.706|FHn 0.640|FHm 0.640(Fim 0.578|F#Hm 0.640|F#Hm 0.578|FHn 0.578
i) BHT |4mt| EHEHT |sEm| EET |4mw EET |4Ew| EEAT |sEw EET |sEw EEHT
&% =25 &% #= 5% #%E &%




HIRFT : ERARM Y & —

[B]% : 305[q] FHARH :2023.11.20 22/228
409 410 411 412 413 414 415
pE B e B ZF B ZF [El ¥ B ZF [E RF B
Rk |ER| A | BR (BR| AR | BR8] A% | B |B%] &% | BR [BR] 2% | &% &% && | &% [&%] &%
400| 40 1| 400 40 1| 400| 42 1| 400| 36 1| 400] 38 1| 400| 40 1| 400 40 1
P4 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
M 0.640 (##&m 0.640|# 8 0.706|##m 0.518|##En 0.578|# & 0.640(##n 0.640
MER 2.304|#%ER 2.304| R 2.542| MR 1.865|##&RE 2.081|##&A 2.304 | 7R 2.304
Figm 0.640|F#Hn 0.640(FHm 0.706|F5m 0.518|F#Hm 0.578|FHn 0.640|F4n 0.640
g BHET |sEw| BHT |cEt| BHET |[fEw| BEED |dEt| BEEHD |[£Ew| 8@ |wEw ZEEASD
& &% &% =2 =23 5% &%
416 417 418 419 420 421 422
ZF B ZF B ¥ B ZF B ZF B ZF B ¥ B
R |BER| A | Bk (BR| A | BR (BR S| BR (B8R K& | B (2R K& | BR [BR] & | BR [BR] &%
400 40 1| 400 42 1| 400/ 40 1| 400{ 40 1| 400 46 1| 400 62 1| 400 54 1
E 1| &% 1| &% 1| &% 1| &% 1| &% 1| &% 1
M 0.640 |(##m 0.706|# 0.640|# 8 0.640|##&m 0.846|##Em 1.538|# & 1.166
R 2.304| ¥R 2.542|wER 2.304| %A 2.304|##ER 3.046|#&ER 5.537|#MEA 4.198
FHm 0.640|Fm 0.706|FHm 0.640(F#Hn 0.640|FHm 0.846|Fgni 1.538|FHn 1.166
i) BET O |LEw| BRET O |fEm BET |4EEw| BED |cEw| BET |sEw| BET |sEw| B£EGH
e = % =5 5% #EE &%




